

A CLASS OF PROJECTIVE STONE ALGEBRAS

Ivo DÜNTSCH

We prove that a regular double Stone algebra is projective in the category of Stone algebras if and only if its centre is a projective Boolean algebra and its dense set is countably generated as a filter. It follows that every countable regular double Stone algebra is projective as a Stone algebra.

0. Introduction

In his book [5] Grätzer lists as problem 53: Describe the projective Stone algebras. The finite case has been solved first by Balbes and Grätzer [1]; more characterizations have been given by the author [4]. Already for the countable case no worthwhile description is known. Any projective Stone algebra has to be a double Stone algebra (*cf.* [4]), so it seems quite natural to ask which classes of double Stone algebras are projective in the category of all Stone algebras, and in this paper we shall answer this question for the regular double Stone algebras.

1. Preliminaries

A Stone algebra $(L, +, \cdot, *, 0, 1)$ is a pseudocomplemented distributive lattice with 0 and 1 , such that for all $x \in L$, $x^* + x^{**} = 1$. We shall identify in the sequel any structure with its underlying set. $B_L = \{x^* \mid x \in L\}$ is called the centre of L ; it is the set of complemented elements of L and, as a subalgebra of L , it is a Boolean algebra. $D_L = \{x \in L \mid x^* = 0\}$ is called the set of dense

Received 10 March 1981. We kindly thank S. Koppelberg for reading the manuscript and suggesting simpler proofs for some of the results.

elements of L ; it is a filter in L . L is called a double Stone algebra, if it is also dually pseudocomplemented, that is, for every element x of L there is an x^+ in L , such that for all $y \in L$, $x + y = 1$ if and only if $x^+ \leq y$, and if furthermore $x^+ \cdot x^{++} = 0$. We refer the reader to [5] for the basic facts on Stone algebras.

A double Stone algebra is called regular, if for all $x, y \in L$, $x^* = y^*$ and $x^+ = y^+$ imply $x = y$.

LEMMA 1.1 (Varlet [8]). *Let L be a double Stone algebra. Then the following statements are equivalent:*

- (1) L is regular;
- (2) $x \cdot x^+ \leq y + y^*$ for all $x, y \in L$;
- (3) every chain of prime ideals of L has at most two elements.

For a regular L , set $F_L = \{x^{++} \mid x \in D_L\}$; then F_L is a filter in B_L , and the map $d : F_L \rightarrow D_L$ which assigns to each element a of F_L the unique element x of D_L satisfying $x^{++} = a$, is a lattice isomorphism. In [7], Katrínák has shown that every regular double Stone algebra L can be constructed from a Boolean algebra B and a (not necessarily proper) filter in B .

A Stone algebra homomorphism is a lattice homomorphism which also preserves $*$, 0 , and 1 .

LEMMA 1.2 (Chen and Grätzer [3]). *Let L and M be Stone algebras, and suppose $f_1 : B_L \rightarrow B_M$ is a Boolean homomorphism, and that $f_2 : D_L \rightarrow D_M$ is a lattice homomorphism preserving 1 . Then there is a Stone algebra homomorphism $f : L \rightarrow M$, such that $f|_{B_L} = f_1$ and $f|_{D_L} = f_2$ if and only if for all $a \in B_L$, $x \in D_L$ with $a \leq x$, we have $f_1(a) \leq f_2(x)$. In this case, the extension f of f_1 and f_2 over L is unique. Furthermore, f is onto (one-to-one) if and only if f_1 and f_2 are onto (one-to-one).*

If L is a double Stone algebra, Lemma 1.2 obviously implies

LEMMA 1.3. *Let L, M, f_1, f_2 be defined as in Lemma 1.2, and let L*

be a double Stone algebra. Then there is an extension of f_1 and f_2 over L if and only if for all $x \in D_L$, $f_1(x^{++}) \leq f_2(x)$.

(Note that the extension does not necessarily preserve $^+$.)

2. Representations in free Stone algebras

This section consists of a series of - mostly - technical lemmas which are crucially needed in the proof of the main theorem. Let α be a non-zero cardinal; for every $i < \alpha$ let F_i be the free Stone algebra generated by some element a_{i0} .

THEOREM 2.1 (Balbes and Horn [2]). *Let F be the free product of $\{F_i \mid i < \alpha\}$ in the category of distributive lattices with 0 and 1. Then F is the free Stone algebra on the free generators $\{a_{i0} \mid i < \alpha\}$.*

For the remainder of the paper let F_α be the free Stone algebra on the free generators $\{a_{i0} \mid i < \alpha\}$. For $i < \alpha$, let $a_{i1} = a_{i0}^*$, and $a_{i2} = a_{i0}^{**}$. For $r \in \{0, 1, 2\}$, set $A^r = \{a_{ir} \mid i < \alpha\}$, and let $A = A^0 \cup A^1 \cup A^2$.

Theorem 2.1 implies that for every $x \in F_\alpha - \{0, 1\}$ there are non-empty finite subsets $T_1, \dots, T_m, S_1, \dots, S_r$ of A , such that

- (1) for all $i \leq m$, $\sup T_i \neq 1$ and $x = \sup T_1 \cdot \dots \cdot \sup T_m$;
- (2) for all $j \leq r$, $\inf S_j \neq 0$ and $x = \inf S_1 + \dots + \inf S_r$.

The sets used in the representation of an $x \in F_\alpha$ are always assumed to be finite nonempty subsets of A .

For $T \subseteq A$, let $\bar{T} = T \cup \{a_{i0} \mid a_{i2} \in T\}$. Let B_α be the centre of F_α and D_α be the set of its dense elements. The proof of the following two lemmas can be found in Katriniák [6].

LEMMA 2.2. *Let T be a nonempty finite subset of A .*

- (1) $\sup T = 1$ if and only if there is an $i < \alpha$, such that

$$\{a_{i1}, a_{i2}\} \subseteq T.$$

(2) $\sup T \in D_\alpha$ if and only if there is an $i < \alpha$, such that

$$\{a_{i0}, a_{i1}\} \subseteq \bar{T}.$$

(3) $\inf T = 0$ if and only if there is an $i < \alpha$, such that

$$\{a_{i0}, a_{i1}\} \subseteq \bar{T}.$$

LEMMA 2.3. Let $x, y \in F_\alpha$, $x = \sup T_1 \cdot \dots \cdot \sup T_m$, $y = \sup W_1 \cdot \dots \cdot \sup W_p$, such that $\sup W_j \neq 1$ for all $j \leq p$. Then $x \leq y$ if and only if for every $j \leq p$ one of the following conditions hold:

(1) there is an $i \leq m$ such that, $T_i \subseteq \bar{W}_j$;

(2) for all $i \leq m$, $T_i - \bar{W}_j \neq \emptyset$, and

$$\sup(T_1 - \bar{W}_j) \cdot \dots \cdot \sup(T_m - \bar{W}_j) = 0.$$

In the same paper, Katriňák has also shown that B_α is the free Boolean algebra freely generated by $\{a_{i2} \mid i < \alpha\}$.

The following construction of a normal representation of an $x \in F_\alpha - \{0, 1\}$ is an application of Grätzer ([5], Section 12), to our situation.

Suppose $x \in F_\alpha - \{0, 1\}$; then there are nonempty finite subsets S_1, \dots, S_r of A , such that

(1) for all $i < \alpha$, $j \leq r$, $|S_j \cap \{a_{i0}, a_{i1}, a_{i2}\}| \leq 1$,

(2) $x = \inf S_1 + \dots + \inf S_r$.

Note that $\inf S_j \neq 0$ for all $j \leq r$ by Lemma 2.2 (3).

Let $J = \{S_1, \dots, S_r\}$ and

$$C(J) = \{f \mid f : J \rightarrow \mathbb{U}, f(S_i) \in S_i \text{ for every } i \leq r\}.$$

$C(J)$ is the set of choice functions on J . For every $f \in C(J)$ let

$f^+(J)$ be the following subset of A :

- (1) $a_{i1} \in f^+(J)$ if and only if $a_{i1} \in f(J)$;
- (2) $a_{i2} \in f^+(J)$ if and only if $a_{i2} \in f(J)$;
- (3) $a_{i0} \in f^+(J)$ if and only if $a_{i0} \in f(J)$ and $a_{i2} \notin f(J)$.

Since $a_{i0} \leq a_{i2}$, we have $\sup f(J) = \sup f^+(J)$.

Let $C_r(J)$ be the following subset of $C(J)$:

$f \in C_r(J)$ if and only if $f \in C(J)$ and $\sup f^+(J)$ is a minimal element of the set $\{\sup g^+(J) \mid g \in C(J)\}$.

Then $x = \inf\{\sup f^+(J) \mid f \in C_r(J)\}$. This representation of x is called normal; the normal representation of x is unique up to commutativity; furthermore, if $f, g \in C_r(J)$ and $\sup f^+(J) \leq \sup g^+(J)$, then $f^+(J) = g^+(J)$.

LEMMA 2.4. Let $x, y \in F_\alpha - \{0, 1\}$; suppose

$x = \sup T_1 \cdot \dots \cdot \sup T_m$ is the normal representation, and

$y = \sup W_1 \cdot \dots \cdot \sup W_p$ is a representation, such that $\sup W_j \neq 1$ for all $j \leq p$. Then $x \leq y$ if and only if for every $j \leq p$ there is an $i \leq m$, such that T_i is a subset of \overline{W}_j .

Proof. First note that for nonempty finite subsets W, T of A satisfying $\sup W \neq 1$, $\sup T \leq \sup W$ if and only if $T \subseteq \overline{W}$. This obviously implies sufficiency.

Now let S_1, \dots, S_r be nonempty finite subsets of A , such that $x = \inf S_1 + \dots + \inf S_r$, and for all $i < \alpha$, $j \leq r$, we have

$|S_j \cap \{a_{i0}, a_{i1}, a_{i2}\}| \leq 1$. Let $J = \{S_1, \dots, S_r\}$, and $C_r(J)$ and $f^+(J)$ be defined as above. Then $\{T_1, \dots, T_m\} = \{f^+(J) \mid f \in C_r(J)\}$.

Let $j \leq p$; since $x \leq \sup W_j$, we have $\inf S_i \leq \sup W_j$ for every $i \leq r$, thus, $S_i \cap \overline{W}_j \neq \emptyset$ by Lemma 2.3. Hence, there is an $f \in C(J)$, such that $f(J)$ is a subset of \overline{W}_j , and therefore $\sup f^+(J) \leq \sup W_j$.

By definition of $C_p(J)$, there is a $g \in C_p(J)$ satisfying $\sup g^+(J) \leq \sup f^+(J)$. Let $g^+(J) = T_i$; then T_i is a subset of \bar{W}_j .

In order to prove the main theorem, we have to take a closer look at the normal representation of an $x \in F_\alpha - \{0, 1\}$. For a nonempty finite subset T of A define

$$T^* = \{a_{i1} \mid a_{i0} \in T \text{ or } a_{i2} \in T\} \cup \{a_{i2} \mid a_{i1} \in T\},$$

and

$$K^0(T) = \{i < \alpha \mid a_{i0} \in T\}.$$

If $x \in F_\alpha - \{0, 1\}$, $x = \sup T_1 \cdot \dots \cdot \sup T_m$ is the normal representation, set $K^0(x) = K^0(T_1) \cup \dots \cup K^0(T_m)$.

Clearly, $(\sup T)^* = \inf T^*$, and $K^0(x) = \emptyset$, if $x \in B_\alpha$.

The proof of the following lemma is a straightforward application of the construction of the normal representation from an arbitrary representation and is left to the reader.

LEMMA 2.5. *Let $x = \sup S_1 \cdot \dots \cdot \sup S_r$ be an arbitrary representation. Then $K^0(x)$ is a subset of $K^0(S_1) \cup \dots \cup K^0(S_r)$.*

LEMMA 2.6. *Let x be such that $x + x^* \neq 1$. Then $K^0(x+x^*) = K^0(x)$.*

Proof. Let $x = \sup T_1 \cdot \dots \cdot \sup T_m$, $x + x^* = \sup W_1 \cdot \dots \cdot \sup W_p$ be the normal representations. Suppose $a_{k0} \notin T_1 \cup \dots \cup T_m$. We have

$$x + x^* = \sup T_1 \cdot \dots \cdot \sup T_m + \inf T_1^* + \dots + \inf T_m^*,$$

so, using distributivity, we can compute a representation

$x + x^* = \sup S_1 \cdot \dots \cdot \sup S_r$, where each S_j is a subset of

$T_1 \cup \dots \cup T_m \cup T_1^* \cup \dots \cup T_m^*$. Since $T_j^* \cap A^0$ is empty for any $j \leq m$,

a_{k0} is not an element of $S_1 \cup \dots \cup S_r$, hence, k is not an element of $K^0(x+x^*)$ by the preceding lemma.

The reverse inclusion is proved similarly, using $x = (x+x^*) \cdot x^{**}$.

The proof of the following lemma is an easy application of the two preceding lemmas and is omitted.

LEMMA 2.7. *Let $x = \sup T_1 \cdot \dots \cdot \sup T_m$ be the normal representation, and suppose there is a $k \leq m$, such that $x + x^* = \sup T_1 \cdot \dots \cdot \sup T_k + x^*$. Then $K^0(x)$ is a subset of $K^0(T_1) \cup \dots \cup K^0(T_k)$.*

3. Projectivity of regular double Stone algebras

Recall that a Stone algebra is projective if and only if it is a retract of a free Stone algebra. For the basic facts on projective Stone algebras see Balbes and Grätzer [1].

Let L be a Stone algebra and F a filter in L ; a subset S of F is called a set of generators for F , if for every $x \in F$ there are $y_1, \dots, y_k \in S$ satisfying $y_1 \cdot \dots \cdot y_k \leq x$.

Now we can prove the main theorem.

THEOREM 3.1. *Let L be a regular double Stone algebra. Then L is projective in the category of all Stone algebras if and only if B_L is a projective Boolean algebra and D_L has at most a countable set of generators.*

Proof. Let L be projective; then L is a retract of some F_α , so suppose without loss of generality that L is a subalgebra of F_α , and that $f : F_\alpha \rightarrow L$ is a retraction.

Since B_L is a retract of L , and since a Boolean algebra is projective if and only if it is projective in the category of Stone algebras (cf. Balbes and Grätzer [1]), B_L has to be a projective Boolean algebra.

Also, B_L is a subalgebra of B_α , the centre of F_α . For $x \in L$ let x^+ be the dual pseudocomplement of x in L ; this does not have to be the dual pseudocomplement of x in F_α , but since x^+ is an element of B_L , and L is a subalgebra of F_α , we have $x^{++} = x^{*+}$ and $x^{*+} = x^{**}$.

Now we shall show that D_L has a set of generators which is at most countable.

Let D_α be the filter of dense elements of F_α ; by Lemma 2.2 (2), $\{a_{i_0} + a_{i_1} \mid i < \alpha\}$ is a set of generators for D_α .

Let $I = \{i < \alpha \mid f(a_{i_0} + a_{i_1}) \neq 1\}$; then $\{f(a_{i_0} + a_{i_1}) \mid i \in I\}$ generates D_L . For every $i \in I$ define $x_i = f(a_{i_0} + a_{i_1}) \cdot f(a_{i_0} + a_{i_1})^+$; then $x_i + x_i^* = f(a_{i_0} + a_{i_1})$, and, since L is regular, $x_i \leq x_j + x_j^*$ for all $i, j \in I$ (cf. Lemma 1.1 (2)).

If $x = \sup T_1 \cdot \dots \cdot \sup T_m$ is the normal representation, then m is called the rank of x , and we write $\text{rk}(x) = m$.

Let M be a nonempty subset of I , and let m, k be natural numbers, such that $1 \leq k \leq m$. M is called an (m, k) -set, if for every $i \in M$, $\text{rk}(x_i) = m$ and there are finite nonempty subsets T_1, \dots, T_k of A , such that, up to commutativity,

$$x_i = \sup T_1 \cdot \dots \cdot \sup T_k \cdot \sup T_{k+1}^i \cdot \dots \cdot \sup T_m^i$$

is the normal representation of x_i .

M is called an $(m, 0)$ -set if $\text{rk}(x_i) = m$ for all $i \in M$.

Note that an (m, k) -set is also an (m, r) -set for every $r \leq k$, and that for an (m, m) -set M we have $|\{x_i \mid i \in M\}| \leq 1$.

Next, as an intermediate step, we want to prove the following

PROPOSITION. *Let M be an (m, k) -set. Then $\bigcup \{K^0(x_i) \mid i \in M\}$ is finite or M is the union of finitely many $(m, k+1)$ -sets.*

Proof. For every $i \in M$ let

$$x_i = \sup T_1 \cdot \dots \cdot \sup T_k \cdot \sup T_{k+1}^i \cdot \dots \cdot \sup T_m^i$$

be the normal representation; if $0 < k < m$, set

$p = \sup T_1 \cdot \dots \cdot \sup T_k$; if $k = 0$, set $p = 1$; if $k = m$, set

$p = x_i$.

If, for every $i \in M$, $K^0(x_i)$ is a subset of $K^0(T_1) \cup \dots \cup K^0(T_k)$, then $\bigcup \{K^0(x_i) \mid i \in M\}$ is a finite set. Note that this is the case, if $k = m$.

So suppose there is an $s \in M$ such that $K^0(x_s)$ is not a subset of $K^0(T_1) \cup \dots \cup K^0(T_k)$. Then $p \not\leq x_s + x_s^*$.

Assume the contrary; then $p \neq 1$ and

$$p + x_s^* = p + x_s + x_s^* = x_s + x_s^*,$$

so, by Lemma 2.7, $K^0(x_s)$ is a subset of $K^0(T_1) \cup \dots \cup K^0(T_k)$, a contradiction.

Let $x_s + x_s^* = \sup S_1 \cdot \dots \cdot \sup S_r$ be the normal representation, and suppose without loss of generality that $p \not\leq \sup S_1$; then $T_i \not\leq \overline{S_1}$ for every $i \leq k$.

Let $j \in M$; then, by regularity of L and by definition of M , $x_j = p \cdot \sup T_{k+1}^j \cdot \dots \cdot \sup T_m^j \leq x_s + x_s^* \leq \sup S_1$. Since the representation of x_j is normal, there is a $q(j) \in \{k+1, \dots, m\}$, such that $T_{q(j)}^j$ is a subset of $\overline{S_1}$. For every $q \in \{k+1, \dots, m\}$ and every subset P of $\overline{S_1}$, let $M(q, P) = \{i \in M \mid q(i) = q \text{ and } T_{q(i)}^i = P\}$.

Since $\overline{S_1}$ has only finitely many subsets, the set $\{M(q, P) \mid q \in \{k+1, \dots, m\}, P \subseteq \overline{S_1}\}$ is also finite. If $i \in M$, then

$i \in M\left(q(i), T_q^i(i)\right)$, so we have

$$M = \cup\{M(q, P) \mid q \in \{k+1, \dots, m\}, P \subseteq \bar{S}_1\} .$$

Every nonempty $M(q, P)$ is an $(m, k+1)$ -set, since, for $i \in M(q, P)$, $T_q^i(i) = P$. This proves the proposition.

For every $m < \omega$, set $I_m = \{i \in I \mid \text{rk}(x_i) = m\}$. We want to show that $\cup\{K^0(x_i) \mid i \in I_m\}$ is a finite set.

Assume on the contrary that there is an $m < \omega$, such that $\cup\{K^0(x_i) \mid i \in I_m\}$ is infinite.

Set $I_m^0 = I_m$; I_m^0 is an $(m, 0)$ -set, which, by our assumption and the proposition, can be partitioned into finitely many $(m, 1)$ -sets. Then there is an $(m, 1)$ -set $I_m^1 \subseteq I_m^0$, such that $\cup\{K^0(x_i) \mid i \in I_m^1\}$ is infinite. We repeat the argument m times, and we arrive at an (m, m) -set $I_m^m \subseteq I_m^{m-1}$ which satisfies that $\cup\{K^0(x_i) \mid i \in I_m^m\}$ is infinite.

This is a contradiction, since I_m^m is an (m, m) -set, and therefore

$$\left| \{x_i \mid i \in I_m^m\} \right| \leq 1 .$$

Thus, for every $m < \omega$, $\cup\{K^0(x_i) \mid i \in I_m\}$ is finite, and therefore $\cup\{K^0(x_i) \mid i \in I\}$ is at most countable.

By Lemma 2.6, $\cup\{K^0(x_i + x_i^*) \mid i \in I\}$ is also at most countable.

For every $i \in I$ an element y_i of D_α is defined as follows. Let $x_i + x_i^* = \sup S_1 \cdot \dots \cdot \sup S_r$ be the normal representation; for every $j \leq r$, set

$$S_j^d = \{a_{k0} \mid a_{k0} \in S_j \text{ and } a_{k1} \in S_j\} \cup \{a_{k1} \mid a_{k0} \in S_j \text{ and } a_{k1} \in S_j\} .$$

Then S_j^d is a subset of S_j , and $\sup S_j^d$ is an element of D_α . Now let

$y_i = \sup S_1^d \cdot \dots \cdot \sup S_r^d$. Then

(1) $y_i \leq x_i + x_i^*$, hence $f(y_i) \leq f(x_i + x_i^*) = x_i + x_i^*$,

(2) $K^0(y_i)$ is a subset of $K^0(x_i + x_i^*)$.

Recall that $\{x_i + x_i^* \mid i \in I\}$ is a set of generators of D_L , hence $\{f(y_i) \mid i \in I\}$ is also a set of generators for D_L . (2) implies that $\{y_i \mid i \in I\}$ is countable, hence $\{f(y_i) \mid i \in I\}$ is, at most, a countable generating set for D_L .

For the converse, let L be a regular double Stone algebra such that B_L is a projective Boolean algebra and that D_L has, at most, a countable set of generators. Let $G = \{x^{++} \mid x \in D_L\}$; then G is a filter in B_L . Since L is regular, the map $d : G \rightarrow D_L$ which assigns to every element a of G the unique element x of D_L which satisfies $x^{++} = a$, is a lattice isomorphism.

Let $\{m_i \mid i < \omega\}$ be a set of generators for G , and suppose without loss of generality that $i < j$ implies $m_i \geq m_j$. So, for every $a \in G$, there is a natural number i and an element b of B_L , such that $b \leq m_i^*$ and $a = m_i + b$.

Let F be a free Stone algebra, $f : F \rightarrow L$ an onto Stone algebra homomorphism, and set $f_1 = f|_{B_F}$, $f_2 = f|_{D_F}$. Since f is onto, so are f_1 and f_2 .

B_L is a projective Boolean algebra, thus there is a Boolean homomorphism $g_1 : B_L \rightarrow B_F$ satisfying $f_1 \circ g_1 = \text{id } B_L$.

For every $i < \omega$, let $u_i = g_1(m_i)$. If z is an element of D_F which satisfies $f(z) = d(m_i)$, then

$$f(z + u_i) = f(z) + f(u_i) = d(m_i) + m_i = d(m_i).$$

Thus, for every $i < \omega$, we can choose an $x_i \in D_F$, such that $f(x_i) = d(m_i)$, and $u_i \leq x_i$.

We now define inductively

$$y_0 = x_0, \quad y_{i+1} = y_i \cdot (x_{i+1} + u_i^*).$$

Then, for all $i < \omega$,

(1) $y_i \in D_F$: $y_0 = x_0 \in D_F$ by definition; if $y_k \in D_F$, then,

since $x_{k+1} \in D_F$ and D_F is a filter,

$$y_k \cdot (x_{k+1} + u_k^*) \in D_F;$$

(2) $f(y_i) = d(m_i)$: $f(y_0) = f(x_0) = d(m_0)$; suppose

$$f(y_k) = d(m_k); \text{ then}$$

$$\begin{aligned} f(y_{k+1}) &= f(y_k) \cdot (f(x_{k+1}) + f(u_k^*)) \\ &= d(m_k) \cdot (d(m_{k+1}) + m_k^*) \\ &= d(m_k) \cdot d(m_{k+1}) + d(m_k) \cdot m_k^* \\ &= d(m_{k+1}) + d(m_k) \cdot m_k^*, \text{ since } d(m_{k+1}) \leq d(m_k), \\ &= d(m_{k+1}) + d(m_k) \cdot m_k^+, \text{ since } m_k \in B, \\ &= d(m_{k+1}) + d(m_k) \cdot d(m_k)^+, \text{ since } d(m_k)^+ = m_k^+, \\ &= d(m_{k+1}), \text{ since } L \text{ is regular (cf. Lemma 1.1 (2));} \end{aligned}$$

(3) $u_i \leq y_i$: $y_0 = x_0 \geq u_0$ by definition; suppose $u_k \leq y_k$;

then

$$u_{k+1} = u_k \cdot u_{k+1} = u_k \cdot (u_{k+1} + u_k^*) \leq y_k (x_{k+1} + u_k^*) = y_{k+1};$$

(4) $y_{i+1} + u_i = y_i$:

$$y_{i+1} + u_i = y_i (x_{i+1} + u_i^*) + u_i = y_i \cdot x_{i+1} + y_i \cdot u_i^* + u_i = y_i,$$

since $u_i \leq y_i$, and $u_i \in B_F$.

Note that (4) implies that for $i, j \in \omega$, $i \leq j$, we have $y_j + u_i = y_i$.

Now we define $g_2: D_L \rightarrow D_F$ as follows: let $x \in D_L$; there is a

$j < \omega$ and an element b of B , such that $x = d(m_j + b)$; since L is regular, $x = d(m_j) + b$. Define $g_2(x) = y_j + g_1(b)$.

g_2 is well defined

Let $d(m_j + b) = d(m_i + c)$; then, since L is regular, $m_j + b = m_i + c$; hence $u_j + g_1(b) = u_i + g_1(c)$. Suppose without loss of generality $i \leq j$; then

$$\begin{aligned} y_j + g_1(b) &= y_j + u_j + g_1(b) \text{ by (3)} \\ &= y_j + u_i + g_1(c) \\ &= y_i + g_1(c) \text{ by (4)}. \end{aligned}$$

Thus g_2 is well defined.

g_2 is a lattice homomorphism

Suppose $x, y \in D_L$, $x = d(m_j + b)$, $y = d(m_i + c)$, and $i \leq j$. Then

$$\begin{aligned} g_2(x+y) &= g_2(d(m_j + b) + d(m_i + c)) \\ &= g_2(d(m_j + b + m_i + c)) \\ &= g_2(d(m_i + b + c)) \\ &= y_i + g_1(b + c) \\ &= y_i + y_j + g_1(b) + g_1(c) \\ &= g_2(x) + g_2(y), \end{aligned}$$

$$\begin{aligned} g_2(x \cdot y) &= g_2(d(m_j + b) \cdot d(m_i + c)) \\ &= g_2(d((m_j + b) \cdot (m_i + c))) \\ &= g_2(d(m_j + m_i \cdot b + b \cdot c)), \text{ since } m_j \leq m_i, \\ &= y_j + u_i \cdot g_1(b) + g_1(b) \cdot g_1(c) \\ &= y_j + (y_j + u_i) \cdot g_1(b) + g_1(b) \cdot g_1(c) \\ &= y_j + y_i \cdot g_1(b) + g_1(b) \cdot g_1(c) \text{ by (4)} \\ &= (y_j + g_1(b)) \cdot (y_i + g_1(c)) \\ &= g_2(x) \cdot g_2(y). \end{aligned}$$

Clearly $g_2(1) = 1$, so g_2 is a lattice homomorphism preserving unit.

g_1, g_2 can be extended to a Stone algebra homomorphism $g : L \rightarrow F$

Let $x = d(m_i + b) \in D_L$; then

$$g_1(x^{++}) = g_1(m_i + b) = u_i + g_1(b) \leq y_i + g_1(b) = g_2(x)$$

so, by Lemma 2.4 there is a (unique) extension $g : L \rightarrow F$ of g_1, g_2 .

$f \circ g = \text{id } L$

Suppose without loss of generality $x = d(m_i + b) \in D_L$; then

$$\begin{aligned} f(g(x)) &= f(y_i + g_1(b)) = f(y_i) + f(g_1(b)) = f(y_i) + f_1(g_1(b)) \\ &= d(m_i) + b = d(m_i + b) = x. \end{aligned}$$

Thus L is a retract of F and therefore projective.

Any countable Boolean algebra is projective, and we get

COROLLARY 3.2. *If L is a countable regular double Stone algebra, then L is projective in the category of Stone algebras.*

References

- [1] R. Balbes and G. Grätzer, "Injective and projective Stone algebras", *Duke Math. J.* **38** (1971), 339-347.
- [2] Raymond Balbes and Alfred Horn, "Stone lattices", *Duke Math. J.* **37** (1970), 537-545.
- [3] C.C. Chen and G. Grätzer, "Stone lattices. I: Construction theorems", *Canad. J. Math.* **21** (1969), 884-894.
- [4] Ivo Düntsch, "Projectivity, prime ideals and chain conditions of Stone algebras", *Algebra Universalis* (to appear).
- [5] George Grätzer, *Lattice theory. First concepts and distributive lattices* (Freeman, San Francisco, California, 1971).
- [6] T. Katriňák, "Die freien Stoneschen Verbände und ihre Tripelcharakterisierung", *Acta Math. Acad. Sci. Hungar.* **23** (1972), 315-326.

- [7] Tibor Katriňák, "Construction of regular double p -algebras", *Bull. Soc. Roy. Sci. Liège* 43 (1974), 283-290.
- [8] J. Varlet, "A regular variety of type $\langle 2, 2, 1, 1, 0, 0 \rangle$ ", *Algebra Universalis* 2 (1972), 218-223.

Freie Universität,
FB 10,
Garystr. 21,
1000 Berlin 33,
West Germany.